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1.

7 men can complete a work in 52 days. In how many days will 13 men finish the same work?
A) - 26 B) 27
28 ; D) 29

7 amser m Couamaaw 52 prisafled (y)tq.uurrrra;m arafler 13 yamaer 2Cs Couanaenw THEEmen
Brsafléd g liLmigeT?

A 26 i B) 27
(C) 28 ' (D) 29

Base area of right circular cylinder is 80 em?. If the height is 5 cm then the volume is

W™ 400 cm® (B) 16 cm?

(C)  200cm® D) igﬁcm

@ CpreulL z@mmufﬂan Siguss ugly 80 & Gsl. siger sa_u.jm.o 5 GsLB Graﬂa) DFET HET J|ETE

(A) 400 Qe. LB B) 16Qs. LB
©)  200Qs.8 D) -‘%0 Q.8

Find the simple interest on Rs. 7,500 at 8% per annum for I% years.

(A) Rs.800 B Rs. 900
(©) Rs. 8,400 . (D) Rs. 10,000

. 7,5006@ 8% eul_ig. 551D (m euBLLD 6 TFRISEREET Saifl 6Ly el STeRTs.
(A) em. 800 - (B) e 900
(C) . 8,400 : (D) em. 10,000

If one ﬁfth of one third of one fourth of a number is 2 then the number is
(A) 50 (B) 60

(€) 100 P 120

@t erawrentlen Sl epm Lmidler epermdled @@ undlen prerdlé g LkiE 2 araflé a;su@mawr

(A) 50 (B) 60
(©) 100 . . D) 120
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b. Match the following : :
Visakadatta

(a) Shakuntala 1
(b) Mudrarakshasa 2. Dandin
(¢) Miruchakatika 3. Kalidasa
(d) Dasakumaracharita 4 Sudraka
(a) ®  © (d)
A 1 3 2 4
3 1 4 2
©° 4 3 1 2
D) 2 4 3 1
Epsen_cupenn QUTHSSIS:
(a) srEHEOD | clenssssT
(b) q@psrTIT_sED 2. SERTIg 65
(c) WmsssgsD 3. srefigram
(d) ss@wrrEfgD 4.  @gysir
(a) (b) (c) (d)
@A 1 3 2 4
® 3 1 4 2
< 4 .3 1 2
@ .2 4 3 1

6. In 1908, Bharathiyar orgaﬁized a huge public meeting at chennai to celebrate
Swaraj day (B) Birth day
(C) ~ Press day (D) Service day

1908 yewr(® wumpFwnrt Qeeanenenuie wrAuEmD Gurgs sl Mss ol

O&rraim_mq:mm'r. :
A  swyrgew mreT _ B) 9GBS Hrer
©) usdfsens prer A (D) Gseveu prer

y Tashkent Declaration is associated to which of the following.
Indo-Pakistan War (1965) ' . (B) Indo-Pakistan War (2000)
(C)} Bangaladesh Independence (1971) (D) Chinese Aggression (1962)

snassaT @UILIBSD SpsarL 6ahs Blepeer FOWHSILILL g ?
A) @pHur-urdevgren Cumi (1965) B) @sdwur-urdevgrer Gumr (2000)
©€) emssgpdyo Gumt (1971) (D) ferl uer CQu@iiy (1962)

.
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10.  Food for work programme was introduced during the ——— plan.

(A)  Fourth Five Year m Fifth Five Year
(C)  Sixth Five Year (D) Seventh Five Year

2 awreydE Couanaw aupii@b SIL1b Siflapastiu@EsslulLg).

(A)  prenamb mpsmeT(H S b (B) gpgmb pihsre(H S b
(C) <ypmb ghsrem® HLib (D)  apmb ghsTan® HLb
11, In India, present trend of rapid urbanisation is due to

(A) influence of cinema and electronic media
(B)  break-up of Joint family system

(C)  abolition of zamindari system

m lack of employment opportunities in rural areas

QpHuimeile) BFETOWLTEGSNIHE WPEEW STTEMDNS DO
(A)  Aeflomwppd Beaeargn Qgsriy srgamasafiar srésn
B) sl (éGOLL 2-pay apley

©C) gensrfl ppenp @UlGsILLL ST

D) Aproypriseio sramiu@n Camauidar @Q;ﬂmw

12.  National income of a country can be calculated by

(A) 2 methods | .af' 3 methods
(C) 4 methods (D) 5 methods

B eubrarsams sarsdBb euflapenpaer
A)  2gpeopsdr (B) 3 apewpsar
©) 4 ypapsdr (D) 5 yonser
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15.

16.

Which of the follov'ving is / are wrong?

(1)
(ii)
(iii)
@iv)

B)
(©)
@)

A Jain monk named Vajr;'mandhi established a Dravida sangha at Madurai
Achyuta' Vikrantha was the most popﬁlar Kalabhra ruler who ruled over Kanchi
The chola age is known as the ‘Golden age’ of Mahasabha

Sanskrit was the official language of Pallava

(i1) only wrong ;

(1) and (ii) are correct

(1) and (iv) are wrong

(1), (ii1) and (iv) are wrong

S\pseRT_uDHMIET 6TFI/ TENeU SEUMTEITEnEU?

@)
(ii)
(iii)
@iv)
A)
B)
- (©
D)

(A)
B)

D)

auRRTpHS erenp swenrs giped wgmTudd Syl srissmS ngu@g's,ﬂmrrr‘.r
21555 NETHST STEHFEMII T LIS Gl;:g'pgp sen 19y wenaryTeunT
Gempraafier smawb “war semuulen Qu&gj)ésna)mna;" &HaLILOE DG
udeelisafien 2, H Qurl swavdlmso

(i) 0 Gib paugy

(1) womd (11) sflwrerg

(i1) wHmib (1v) seumreng

(1), (i) wpmid (1v) seumreng

Later Vedic period which division is called Dakshinapatha?

Northern India
- Central India

Southern India

Out of India

Geug sragdle Spsaar_ ans Gfla) s Aamrursib erar SaPsaLILLL §)?

(A) e @pSHwir
B)  wifu@pur
(C) QgeneflpSur
D) @vHureysE siumed
~%S/18 8
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29.  Which layer of the atmosphere is rich in ozone?

(A) Troposphere \D/Stratosphere
(C) Ionosphere (D) Exosphere
auafl e wgdle erhg iGédled gGeren oifsiors o ererg)?
A)  yCyrGurevbwmr B) e _grGumev@wir
©) @wCearmen @it (D) er&CevmaviGuwi
30. ~ Match:
Taluk District
(a) Gingee 1. Perambalur
(b) Ambasamudram 2. Thiruvannamalai
(¢) Veppanthattai 3. - Villupuram
(d) Thandarampattu 4. Thirunelveli
(a) (b) () (d)
3 4 1 2
@) 3 4 2 1
© 3 2 1 4
D) 3 2 4 1
Qumrmsgs :
STIST LomeuL_L_migeT
(a) Qaepd) 1. GQumbugnt
(b) sburspsHrd 2.  Hmeuamemtmome
(© Caupsler 3.  eflgpuiyybd
(d) seawr_gmbul @ 4. HmApaCeud
@ ‘® © @
A 3 4 1 2
B 3 4 2 1
€ 3 2 1 4 -
@ 3 2 4 1
31.  The grassland of Eurasia is called
(A) Pampas ~ (B) Velds
(C) Downs ' W Steppe
wCraflwmelle sremriiuiBib LeoQeuafl
(A)  umbumre (B) Qeue(®
(C) Qiememev D) ew@Lin9
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32.

33.

34.

35.

are bio indicators of environmental contamination
‘4,  Parasites (B) Saprophytes
(©) Fungi P Lichens
Gl war_asdar wrsssmer sm_@Hw e uHerarae Gama
A gl(parafsdr (B) srmawenfiser
©) yerews D) asseen
Which is the instrument used to measures relative density of milk to determine purity?
(A) Bactometre Lactometre
(C) Pyrometre (D) Hydrometre
eThS 2 LisTaTD umedlen SiLsd Caumun® LHMILD LTedler Fw SeTenLo iMlwi vweru(hEma)?
(A) umsCumbSlm (B) ersCLmSLLi
C) euCymSL i (D) e@apyCrmbLLi
The constitution of India came into force on
26t January 1950 (B) 15t August 1947
(C) 26 January 1947 (D) 15t August 1945
@B sirflweenoliy pm;@mgpe’s@ B 2p60r(H
(A) 26 gameufl 1950 (B) 15 sgyamavl 1947
(C) 26 gameuf 1947 ’ (D) 15 gysevr 1945
Rajya Sabha consist of
(A) 220 members (B) 230 members
\K 250 members (D) 200 members
rile smeuudear Aurss e plifarnisdr aaraflsms
(A) 220 2 gri9enirser (B) 230 2. prieriser
(C) 250 e punleniser (D) 200 2 piQeriser
15 HORGS/18
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36. Number of election commissioners in election commission of India is
Ay -1 B) 2

@ 3 ) 4

BpHu Caise ymamuiHe o drer gy maruisafien araramfléma
@a 1 B) 2
© 3 . D) 4

37.  Consider the following statements :
1) The 73" Amendment of the constitution was enacted in 1992

(i1) According to 73" Amendment of the constitution Tamil Nadu Legislative Assembly
enacted Tamil Nadu Panchayat Act in 1994

Choose the right answer
(A) (i) correct and (ii) is wrong (B) (i) is wrong and (ii) is correct
(C) Both (i) and (ii) are wrong ) W Both (i) and (ii) are correct
Spssan_ aunsdunisemer seue :
@)  erfluemoider 73 aug HBssb 1992 b yer® QuHprLLL g
(i) SOPHTE s Lwapd 73 ag Srfluempiys dnsss slLsddar Uy 1994 b yparh
sOLBIE LEEETLSEE 5L Hamen HlepCaupdlug '
sflwren eflen_amwig CoiH0sHESeD
@A) () o wppd i) seup B) () poup wppd (i) of
©) (@) wppbd(i) seup D) @) whmd (ii) &l ‘

38.  The constitution of India was framed by the constituent assembly

1946-49 (B) 1947-48
(C) 1950-51 (D) 1951-52
@S Srflueemnlieonu 2 maurss sgdlue Hiammu sou aBHgié Asrar sre
(A) 1946-49 (B) 1947-48
(C) 1950-51 _ (D) 1951-52

39. Who was First Woman Governor of an Indian State?

(A)  Sharda Mukherjee (B) Kiran Bedi

(C) Fathima Beevi @ Sarojini Naidu
@pHw wrHlosdler waa CLieT e wmi?

(A)  agmiLm apsig) (B) &Agewr Cuig

(C) ungdwm Se (D) &Crrgdafl pry®
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40. Which one of the following is not correctly matched?

December 10

(A) Human Rights Day
(B) National Energy Conservation Day — December 14

December 23

Kisan Divas Day

M Armed Forces Flag Day

December 17

s _cuhmieT aThs @eTm seunts dummSsLILL (HeTerg)?

(A)  weallg 2 Mewaear Hland - - gasourll
B) Csdlw erflesd ungismiy Send - ig&burld
(C> Hevmerr Feumev Hewd - g&bur2d
D) @urameu ueL&ear Q&g Serbd -  g&ourl?

41.  Project A — 119 — was developed by the US Air Force is also known as
% % A study of Lunar Research Flights
(B) Achieve Moon Landing ‘
(C) Fighter Jet Project

(D) Hatf-V Ghauri Ballistic Missile

<wia) A — 119 — aremug) US gpamwl uml_uﬁlame;io 2 @I TEHSUILLL ). g6 mEuwi
Q) spdlrener rmiEs Gewiuyb < smu earirlaaents LHHu LigLiy

B) spdrello @phEums JPLsD

(C) samenulHid QgL ey

D)  sriu- e sr.well urelevigd oL SR

- ' 17 HORGS/18
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42. Rammasun and Hagupit are the names associated with recent
(A) Space vehicles of NASA
(B) Navy ships of India
Typhoons in Philipines and China
(D) Missiles of India

prasen wHmib anEdl dwu Quwirser slusto @auHCpr®H AsTLiymLwema.
(A)  prarefleng eflamaemniser .

(B) @pdureiang sL_pueL sliL@SET

(C) Welueuene wWHHD far B H SHLLLOESET |

(D) @sdwureien o semeanraar

43.  Point out the wrongly matched pair.

(A) BRICS , —  Fortaleza
(B) 17t Asian Games —  Incheon
(C) NATO Summit, 2014 — Wales
P 2014 FIBA World Cup —  Rio de Janeiro

sauprs durmssLILL (Harer @enemrullaner &L iq &&TL_H.

(A) BRICS - SGuriLmQesr

B)  17eugy Hfu el@erwr’ @ Curiyser —  @endwner

(C) 2014, NATO sibCuerend - Geueev

(D) 2014, FIBA 2 ews&Csmiiemu - fAGwm g AgananCGrrm

44.  Who designed the AADHAAR logo?
Atul S. Pande ' (B) R.K. Pachuri
(C) Sree Ramamurthy Janaki (D) Pandit Ravi Shankar

T ConGar-ene auigeuambSSeuir wmi?
A) g eev. uraGL j (B) «ui.Cs. L@
© uBrmoepiss grend D) uvewmgl gelletisi
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45. Who is the Chairman of the XIV Finance Commission in India?
(A) Rudra : (B) Alka Dhupkar

w Y.V. Reddy . (D) Rajatarang

@pduwreller upranamd Bl yamarmuisen Heneeui wmi?
(A)  mgym B) @t gLETT
©) @u.ei. Qulyg (D) grmsrEsE

46. National Service Schemes was launched in the year
(A) 1965 1966

B)
(C) 1968 P 1969
P G petuais AU Lb e bEsiu L &R
(A) 1965 (B) 1966
(C) 1968 (D) 1969

47.  The author of the book “The Narrow Road to the Deep North” is

W’. Richard Flanagan (B) Carl Spandler
(C) Nicholas Winton (D) Shakespeare
» “The Narrow Road to the Deep North” eréinm ysgasden <péflwi
A) Meer’ Gepraen (B) s&mied ev@uUIGTL i
(©) FHaCamaven eflemr_em (D) CegsevQuim

48.  Identify the renowned scholar from the hints given below.
L. ‘Kaatna Shami Ka Vriksha’ is his novel.
I1. He was selected for the prestigious Vyas samman 2016 in February 2017.

! M Mr. Surendra Verma (B) Mr. Prem Chand
(C) Mr. Anish Kapoor (D) Mr. Kamal Kishore Goyenka

£Cy Qsr@ssiLLHerar Higmb@Esaldmpgl, UsPiss @bs Sidleurarmys s s.

L ‘ST &gl ST UmEGT — GTanLZ @aufg LSled.
II. 2016 wyib ey HE Asamyeudas elwre sbwrer elmHnE @eui Gireufl 2017 Gé Csirey
Qewwul_@erermi. :
Q) Hm. sCripdy euiom B) Hm. 9Cyd spS
©)  Hm. afay sy D) . swao HCagmit CamurisT
¢ 19 - HORGS/18
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54.  Assertion (A) : In 1944 Justice Party was changed as “Dravidar Kazhagam”.

Reason (R) : The name was changed in appreciation of the achievements of Justice
Party. '

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are false

m (A) is true (R) is false
(D)  (A) is false (R) is true

sapmy (A)  : 1944-6 BHss 8 “Hyrellit s1pa&d” erarl GQuwir rHpw Qelwiul L g.
anyemrid (R) : BHaa Aulen srgemenasanarts umpmlig SIUQUWIT rHoLD GUPRISLILIL L §). :
A) (A wppd (R) @ren@io &

. B) (&) wpgid (R) @ramBid seugy
© A sf(R) gaugy
D) A saup R) &

55.  In which year the Justice Party formed the government.

(A) 1918 m 1920

(©) 1923 . 1926
PHésL 8 1§ siemwss e

a) 1918 (B) 1920
(©) 1923 D) 1926

56. Koranganathar Temple is located in
Sri Villiputhur (B) Sri Rangam
M Srinivasanallur (D) Thiruvadanai

QsmiisprsT Carelld) SieLopbgierer GLtb
@A b aflevellL g (B) Briusn
©) Bafeurapagni D)  SHmeur_renen
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57.

58.

Match the following :

(a) First Five Year Plan 1.  Equity and Social Justice
(b) Second Five Year Plan 2. Removal of poverty
(¢c) Fifth Five Year Plan 3. Agriculture oriented
(d) Tenth Five Year Plan 4. Rapid Industrialization ’
(a) (b) (c) (d)
@A 3 1 2 4
B) 3 4 1 2
C) 4 3 2 i
\97, i 4 2 1
Spaam_cupen QUTmHSSIS : -
(a) @smb BHsTETH L LD L FLSGGULD LHMID Fepa B
(b) @uewrLmb gHgreT® L b 2. cumiento eulLiL
(© mbsmd gHsTeET®H HLb 3. Ceuermenrento sMHSS!
(8.) USSTID PHSTERT(H SHLL b 4. eflengeuran QgmPlewuwinrge

(a) (b) (c) (d)

A 3 1 2 4
B 3 4. 1 2
(o) | 3 2 1
D 3 4 2 1

The Human Resource Development is a composite index of each country is
Health Status, Education, Per Capita GDP

(B) * Health Status, Education, Per Capita GNP

(C) Health Status, Education, Per Capita NNP

(D) Health Status, Education, Per Capita NDP

waflg auar Gubur®, Spaar. GHusefio gadarm ;_ism".q.gmb Csiipdmés CouammBId, il
(A)  weflg paw, swel, AQuwiss 2 BT 2 HusHule som aibLOTaTD

B) walls peid, swel, Awrss T 2-HusHudap sar su@mrrén.b

©) mqﬂ; pewd, swell, Hlar pr{ 2 HUSHuGE ST auHLOTEILD

D) wefls pow, soa, Har 2 apr G e HusSulier o abLTETD

23 HORGS/18
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59.  The most important small scale industry in India is the —— Industry.

(A) textile (B)  paper

(© jute ﬂhandloom

@pHureiler Ay Gpmflaraer fsions sramiiu@eug) Qsmflevsar.
(A) QOpsays Qgmflasdr B) Guuiui AsmPser

(©) s Agmflcvser D) aszzH Qsmfasar

60.  Which Government enacted a law for abolishing “Devadasi” system?

m Justice party (B) British
(C) Congress - (D) Chola kingdom

Thg Siremhsh “‘Caausrdl” @ity sl sms HonGaunhlug?
A) fHss s (B) <ypmdGawrr
©€) smdyev D) Gsmyp oiys

61. ' Find out tile wrong answer
(A) Mansabdari system was introduced by Akbar
(B)  Akbar built Bulandarwaza at Fathepur Sikri

Shershah was the forerunner of Akbar

m Akbar was known as Salim

seuprer eunsdlwgeng ser (B9l

(A)  werstigril e @iGLITD DFlapsLILOSSILL L g

B)  @sui uCsyT AaHNa Yopsiamer sC gL sos st g et
©)  ssuflar wenGarmg Qagiagr

D)  @iEuT F6Sib eTemperPEEILILLTiT
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62. Who introduced Tax for irrigation first time in India?

m Feroz Tuglaq (B) Mohamed bin Tuglaq
(C) Alaudin Khilji = (D) Iltumish :

@iHureile SrursasSne eufl Qegusgib apapanw (pseld Sidlapsiiu@sdue
(A) QCymev gi&ens (B) (y)é;u)gj et gi&ers

(C)  erayfler feogd D) @eogides

63. - Consider the following statements :
Assertion (A) :  Shershah was called the Father of Modern currency.

Reason (R) : Because of the introduction of silver and gold coins mint his name in

Devanagari seript
(A) (A) is true (R) is false
Both (A) and (R) are true, (R) explains (A)
(C) Both (A) and (R) are false
(D)  (A) is true but (R) does not explains (A)

Spsaam_ eursSlwnsmend Houefl

sapm (A) Qagirayr peSear preawmu apepuien sHams reampenésLILIEHDT.
sryewrd (R) - preww ETSHSS50S Gmgh@&ﬁaﬁw@ sis, Geaudrefl pramugded sen Guwey
Gaauprafl Qumuie udssmi

Q) (A sfl yame (R) seup

(B)l A) wppib (R) Gran®id sl Gogib (R) erarug (A) edlp@ sfiwren efaréstd
©) A wogw (R) @rando geug

D) (A) sfl syammed (R) (A) @ sflwner eflerésindan
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64. The ————— of the testis provide nourishment to the developing sperms.
(A) Epididymis

(B) Testis
Sertoli cells
(D) * Urethra

eilbgasdaarar oflbg QsdsErss oarl” L Seng SieflliLg).
A) a9 igifen

B)  dipgain

(C)  QsiGLrellé Qadvaer (s1Hs Qrerser)

D)  Aphid ypeuf

65. A blob of oil which has been weathered after floating on the ocean is
(A)  Crude oil

" (B) Ol Spills
Tar Balls
(D) 0Oil Wastes

am@ei  sfleflanter SLO wLLFHD Ossss s crembenni Sgpésedr ereueummy
S P&sLIL[HSarmen?

Q)  ssdsMésiiuns eren@emmis

B) wanGemi sfleyser

© gt upgseT

D) canQemis syleyser

66.  The year in which the Environmental Protection Act is implemented

&) 1974 W\ 1986

(C) 1981 (D) 1978

SOHIULDE G LNFSTULE s L 1b @uipmUiL L 201 (H)
A) 1974 (B) 1986
(© 1981 (D) 1978
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67.

68.

69.

The fraction of of the thermodynamic temperature of the triple point of water is

273.16
(A) Coloumb Celcius

(B)
(C)  Second MKelvin

Bfler wiyereflulier Qauiu Quissefweller Qeuliublapeouie

Qe LGS eremLig)

273.16
A) smgmd B) Qsodlwen
(©C) efemmg : (D) Qseellen

Two bodies of masses 10 kg and 20 kg respectively falls from a height of 10 m to ground
surface in 5 sec, the ratio of kinetic energy of these two body

(0.5 (et 3 | MI:Z
) 1:8

(0 T (27|

10 8.8 wpmib 20 &.8 Hepwierer Q@ AumBLaer 10 BT 2 wrsdd QmHg S ellamguied samyemuw
Si@Lwreanme Seupdler Quss hnasaten a6

@ 1:1 @) 1:2

© 1:4 D) 1:8

If velocity of sound is 300 m/s then time taken to travel a distance equivalent to light in
1 sec

(A) 100 sec ‘ (B) 3600 sec

@q 10° sec _ ,(D) 10* sec

gdlder HansCGeustd 300 18/69 erafied, gafl @ eflammyuied sLHg Gevgib Agraaame @6 &L58
T (H5SIEEETETEHLD STELD

(A) 100 eflermig. (B) 3600 eSlenmig.

(C) 10° eflarmg. D) 10* eflermg
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70.  The metal which melts at Human body temperature is
Gallium (B) Indium
(C) Thallium (D) - Boron

waflg 2 L& Geutiufleraude o mEwb 2 Camstd og?
(A)  smeSlwid ' B) @eawmguid

© sreduid ' D) Gumymer

71.  Artificial rain is formed by using
(A) Silver Chloride (B) Silver Bromide
\gf\ Silver Iodide (D) Silver Nitrate

Aewpens weny AumPw LweTu@b Caiobd
(A) evaurt @Cermeny(H (B) Héoeuir yGrmero®

C) Aeoeuir HCwrenL{ - (D) et epl Gyl

72.  Vishal deposited Rs.200 per month for 5 years in a recurring deposit account in a post office.
If he received Rs.13,830. Find the rate of interest

6% B) 5%
©C) 8% D) 9%

eflagme geu@eun(n g Feusssiaid m.200 @ @i SiEhsvESED 5 T HEE5EG Crass QUbBSTIT
ueiled yeurt (5.13,830 Quipprit erafled eut_ig eSsib ereman?

A) 6% (B) 5%
©) 8% i D) 9%
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75.

76.

77.

78.

a+b R i

If and — : are the two rational expressions, then their product is
a-b a’+b
J a® + ab + b* ®) a® —ab + b*
a® —ab + b* ¥ a® +ab+ b*
a’® —ab-b* : a® +ab+b*
p ol il ST R s
© a® + ab + b* D) a® —ab-b*
a+b . . a*-b : : . o o . 3
a_p omb—g— ) < dflwer Qm fzupn Carameusar erafle SiauhBler QumEse Liawer.
- a
a*+ab+b® : a® —ab+b*
@) a’® - ab+b* ® a’+ab+b’
Y= alb—b% a’ +ab+b*
(75 R ... .4 : oL Mt
© a® +ab + b* @) a® —ab-b*
Find the total area of 14 squares whose sides are 11 cm, 12 em,.....24 cm.
(A) 4415 sq.cm. (B) 4055 sq.cm.
(C) 4155 sq.cm. w 4515 sq.cm.
11 @e.6, 12 Qs.15,.....24 Qs.8 yfuapeon Lsshses Qarar_ 14 sgisaiar Qs ugLliy
ST .
(A) 44155Qs.8. ' (B) 4055 &.0s.5.
(C) 4155 &.Q&.5. (D) 45155.Qs.5.
The value of an old car is Rs. 45,000. If the price is decreased by 15%, find its new price.
™ Rs. 38,250 (B) Rs. 39,350
(C) Rs. 40,250 (D) Rs. 41,250
@ uampw sflen eflene @.45,000/- oiger eflaneuiler 15% Geamey erafle QuAurpg siger LHw
eflenay eremren?
(A) . 38,250 (B) em. 39,350
(©) e 40,250 , (D) em. 41,250
‘The ratio of the speed of the three cars is 2 : 3 : 4. What is the ratio of times taken by them

in covering the same distance?

(A) 2:3:4 (B 4 82

(C 4:3:6 M6:4:3

epany smiger 2: 3: 4 aranp alfly Coussded Qeanprd Dbs perny SMIGEHD @ GO L 50
s sL&a T (Hsg1é Qanarend Corhisafian aldssmss srems.

(A 2:8:4 (B) 4:3:92

©C 4:3:6 D) 6:4:3
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91

92.

93.

Match List-I with List-II correctly and select your answer using the codes given below :
List I List IT %

(a) Dudhwa National Park ik Karnataka
(b) Nagarhole National Park 2 Madhya Pradesh
(¢) Ranthambore National Park 3.  Uttar Pradesh
(d) Kanha National Park 4. Rajasthan
Codes :
Ma) (b) (© (d)
3 1 4 2
B) 3 1 2 4
© 1 2 4 3
D) 1 2 3 4

utgwe I uigwed [IT-ecear Quipsd &Cp Gsr@ésuul@eer EHlUGsmas GCara @
afler_epwip CaibEsH.

U guied I  uiguwed IT
(a) gseur Cadlu Yrhism 1. siprLsD
(b) parCare Cadlw LmisT 2.  wsHw CGsed
() ghsmbyT Calu yhisT 3. 2585 9yCssid
(d) semanr Calw yrism 4. @urgmevgmen
@S O ser :

(a) (b) (© (d)
A 3 1 4 2
® -3 1 2 4
@ ‘1 2 4 3
D) 1 2 3 4

Which State Government confers the Basavasri Award?

(A) Andhra Pradesh Karnataka
(C) Telangana (D) Bihar
ugeuravlf afmeng b wle 2iTs uPRIGEDS?

Q) <58y ACsen (B) arprLam
(C) Qgamsmernt D) Ssni

The Japanese art ‘Tkebana’ is related to which among the following?

(A) Wall Painting - Chorus Dance
(C)  Sculptures y Flower Decoration
‘@ EQuen’ erengytd gLiLITeT HT_( Sma TS e hesameDDIET THEIL e GFTL L@ 1g?
(A)  seur geflwid (B) Camyev pLad
(C) Spu Ceuena (D) LN SEESTFLD
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94.  Madurai bench of the Madras High Court has ordered Tamilnadu Government to enact a
law to eradicate Prosopis Julifora in February 2017. What is Prosopis‘Julifora? :

(A) A viral disease
(B)  Roto virus
M Seemai Karuvelam tree

(D)  Kanimaranjandu, a tree crab

Gugeudl 2017 @Gev, Qeenenen 2 wirBdlwenns e wgieny 2wib (Prosopis Julifora) CipnGevm Qe
grallsdugn-ciloar <igCur® @iiusbarer &L ib Qupdl slppr®  Sirdhes G0
QpL9sgierarg. @b LprGavmQen soadl. @i GTELIg;)

A)  emeaugevrad 2 meun@Lb Cumu
B) Gyrim eeuyen
(©) SawssmCGaus b

D) safl wrEsEbE. @@ W7 HETH

95. In India, October 31¢ observed as every year as
(A) Farmers Day (B) Tourism Day
M National Unity Day (D) Minorities Rights Day

@euCleunh eI SEGLTUT 31— @BSHwin Tbs BraTs senL L1y SsiuHéme)?
(A)  efleusmulser Hanbd (B) asmhmer Heand
©) Csflu gpmenio Hamd (D)  Agurerewulent o fewser Hamb

96.  Which footballer has won the 2018 European Golden Shoe?
M Lionel Messi (B) Mohamed Salah
(C)  Cristiano Ronaldo ‘ (D) Robert Lewandowski

2018-@e ‘gGrriunellen ks staamf’ Qaudmy STOUBSTLL Sy wmi?
A)  ACwmenér Goevend (B) Guran@uwr- F@n
©) Afevgwrerr QuremmaGLm : (D) prui’. QeeurarCLTavd
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97.

98.

99.

100.

CAN, Europe has reported Denmark as the best performing nation followed by Sweden.
What is CAN and what for it has ranked the countries?

(A)  Central Authority for Nations, for high literacy rate

(B) Committee of Network of Knowledge, for high literacy rate

(C) Cyber Advanced Network, for low cyber crime rate
Climate Action Network, for low CO, em_ission

seSLa@é@ ShssLWTs Auenorisimen (psenemLns Qewarhmib prrs, gCrmindw ‘Geear (CAN)
Hpeuand siflefggisrerg. CAN erenuig) cramen? B espsns @bprHsmar b Aflsgerarg?

(A)  Qaengé Hsmilly Ssumi Cragene, SHs0Ms svefwhey aiss8neTs

B) &1 peots QpLQaumis @l priel g, Aswrs soelwdey aissHhans

(©)  esuit s aurarev® ApLQeuris, G@DHS uMOSET GDD aipsdnans

D) AeaGol segen AplQanis, gopps CO, 2 18lpeiihans

Who is the author of “The theory of Industﬁa?ypsation”?
J

(A) Patrick Modiano ean Tirole

(C) Richard Flanagan (D) Malala Yousafzai
Qsmppsremasaiar i@l dsTeTms erem medlerm < Sfwir wimi?

Q)  Gulfé CumgCuGerr (B) sBwen g Cymed

(C) Mgsr LenGpaen (D) werer wsTUETL

Who is also venerated as ‘Second Buddha'?
(A) Maitreya M’admasambhava

(C) Avalokitesvara (D) Mahasthamaprapta
‘@reT_Teug) LSS eran euamTisiLBueut wm?

Q) @wslrum : (B) uswembueur

(C) euCardGLaveurm D) waprEgMOLTUST

Who can issue one rupee note of India?

(A) Reserve Bank of India (B) State Bank of India
w’ The Ministry of Finance (D) Public Finance Authority
@pHu g mumis CprieL QeuafludGueur wri?
(A)  Maiey CIkE Gpoold @HEWT B)  CLL CURE Bpeol) @HSHLM
(C) P smwiesd (D) Qurg HiF ememmuid
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to check whether all the questions are there in series and ensure there are no blank pages in the question
booklet. In case any defect in the Question Paper is noticed it shall be reported to the Invigilator
within first 10 minutes and get it replaced with a complete Question Booklet. If any defect is
noticed in the Question Booklet after the commencement of examination it will not be replaced.
Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
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